



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{4} = \left(-\frac{7}{8}\right)$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{5} = \frac{6}{25}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{5} = \left(-\frac{29}{40}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \frac{2}{5} = \frac{13}{80}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{2}{5} = \frac{42}{125}$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(-\frac{2}{5}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{5}\right) = \frac{4}{25}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{109}{250}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) = \frac{7}{8}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{2}{15}\right)$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} = \frac{25}{54}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{55}{216}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{21}{100}\right)$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{379}{500}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{150}\right)$$